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Note : Attempt Five questions in all. Q. No. 1 is compulsory

and answer to each part of Q. No. 1 should not be

more than one page.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1 vfuok;Z

gS ftlds izR;sd Hkkx dk mÙkj ,d ist ls T;knk ugha gksuk

pkfg, A

1. (i) Explain the deduction under Section 80D of Income

Tax Act. 4

vk;dj vf/fu;e dh /kjk 80D dh dVkSrh dks le>kb, A

(ii) Write a short note on return of income tax. 4

bude VSDl fjVuZ ij ,d laf{kIr fVIi.kh fyf[k, A

(iii) Write a short note on advance payment of tax. 4

dj ds vfxze Hkqxrku ij ,d laf{kIr fVIi.kh fyf[k, A

(iv) Explain the functions of Central Board of Direct

Tax. 4

dsUnzh; izR;{k dj cksMZ ds dk;ks± dh O;k[;k dhft, A

(v) Write a short note on Commissioner (Appeals). 4

dfe'uj (vihy) ij ,d laf{kIr fVIi.kh fyf[k, A
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2. What are the provisions relating to deductions from GTI

in respect of donation under Section 80G of the Income

Tax Act ? 15

vk;dj vf/fu;e dh /kjk 80G ds rgr nku ds lEcU/ esa

ldy dqy vk; ls dVkSrh ls lEcfU/r D;k izko/ku gSa \

3. Describe the powers of Central Board of Direct Taxes

and Assessing Officer. 15

dsUnzh; izR;{k dj cksMzZ o dj fu/kZj.k vf/dkjh dh 'kfDr;ksa dk

o.kZu dhft;s A

4. Compute total income and tax payable for the assessment

year 2018 to 19 : 15

Rs.

(i) Taxable income from salary 3,50,000

(ii) Short-term Capital Gains 12,000

(iii) Long-term Capital Gains 40,000

(iv) Bank interest on time deposits 10,000

(v) Lottery Income (Gross) 25,000

(vi) Expenditure on medical treatment of a

disabled dependent 15,000

(vii) Investment in National Saving Certificate

(VIII issue) 10,000

(viii) Donation to Indira Gandhi Memorial

Trust by cheque 25,000

(ix) Contribution to Public Provident Fund 15,000
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dj&fu/kZj.k o"kZ 2018-19 ds fy, fuEu lwpukvksa ds vk/kj ij

deZpkjh dh dqy vk; ,oa ns; dj dh x.kuk dhft;s %

#-

(i) dj;ksX; osru dh vk; 3,50,000

(ii) vYikof/ iw¡th ykHk 12,000

(iii) nh?kkZof/ iw¡th ykHk 40,000

(iv) lkof/ tek ij cSad C;kt 10,000

(v) ykWVjh ls vk; (ldy) 25,000

(vi) ,d fnO;kax vkf Ükzr ds fpfdRlk mipkj

ij O;; 15,000

(vii) jk"Vªh; cpr i=k (VIII issue) esa fuos'k 10,000

(viii) psd }kjk bfUnjk xk¡/h eSeksfj;y VªLV esa nku 25,000

(ix) lkoZtfud Hkfo"; fuf/ esa ;ksxnku 15,000

5. What is ‘Best Judegment Assessment’ ? Under what

circumstances it is made by the assessing officer and

also explain the remedies against Best Judgement

Assessment ? 15

^csLV ttesaV vlslesaV* D;k gS \ ;g fdu ifjfLFkfr;ksa esa

dj&fu/kZj.k vf/dkjh }kjk fd;k tkrk gS vkSj ^csLV ttesaV

vlslesaV* ds fo#¼ mipkjksa dk Hkh o.kZu dhft;s A
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6. What is tax deducted at source ? Give its importance.

Briefly explain the provisions relating to tax deducted at

sources. 15

Ïksr ij dj dVkSrh D;k gS \ bldk egÙo le>kb, A Ïksr ij

dj dVkSrh ls lEcfU/r izko/kuksa dks la{ksi esa le>kb, A

7. A firm with A, B and C as equal partners, furnished the

following information for the previous year 2017-18 : 15

Rs.

Profit from business (after deducting the

following amounts) 1,81,000

(i) Salary to A 9,000

(ii) Interest paid for non-payment of sales tax 5,000

(iii) Interest on Capital @12% :

A 5,000

B 4,000

C 3,000 12,000

(iv) Donation to approved institution by cheque 2,000

(v) Donation to a Research Association for

scientific research (Not debited to P &

L A/c) 10,000
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Other incomes :

(a) Long-term capital gains 20,000

(b) Interest on securities (gross) 29,000

(c) Income from house property (Computed) 14,000

(d) Dividends (gross) from Indian Companies 10,500

Compute the taxable income of the firm and allocate it

amongst the partners. The firm fulfils the conditions of

Sec. 184. 15

A, B vkSj C ds lkFk leku Hkkxhnkjksa ds :i esa ,d iQeZ fiNys

o"kZ 2017-18 ds fy, fuEufyf[kr tkudkjh izLrqr djrh gS %

#-

O;kikj ls ykHk (fuEufyf[kr enksa dks ?kVkus

  ds ckn) 1,81,000

(i) A dks osru 9,000

(ii) fcØh dj dk Hkqxrku u djus ij fn;k

x;k C;kt 5,000

(iii) iw¡th ij C;kt @12% :

A 5,000

B 4,000

C 3,000 12,000

(iv) psd }kjk vuqeksfnr laLFkku dks nku 2,000

(v) oSKkfud vuqla/ku ds fy, vuqla/ku la?k dks

nku (ykHk&gkfu [kkrs ds fy, MsfcV ugha) 10,000
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vU; vk; %

(v) nh?kkZof/ iw¡th ykHk 20,000

(c) izfrHkwfr;ksa ij C;kt (ldy) 29,000

(l) edku lEifÙk ls vk; (x.kuk) 14,000

(n) Hkkjrh; dEiuh ls ykHkka'k (ldy) 10,500

iQeZ dh dj;ksX; vk; dh x.kuk dhft, vkSj bls Hkkxhnkjksa ds

chp vkcafVr dhft, A iQeZ lsD'ku 184 dh 'krZ dks iwjk djrh

gS A

8. Describe the different modes of Recovery of Tax. 15

dj dh olwyh ds fofHkUu izdkjksa dk o.kZu dhft, A

9. Discuss the provisions of Income Tax Act regarding

penalties. 15

naM ds lEcU/ esa vk;dj vf/fu;e ds izko/kuksa ij ppkZ

dhft, A
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